BME Department of Mechanics, Materials and Structures Statics
HWO. Repetition: support reactions of beams, of broken segments and of 3 hinged structures 12.02.2020

1. Calculate the support reactions of the simply supported beam! (3 points)

Data P [kN] a[°] p[kN/m] | M [kNm] a[m] b [m] c [m]
Example 10 60° 10 20 2 2 4
Individual

Solution A, [kN] A, [kN] B, [kN]
Example 45,12 5 26,22
Individual

(Please note, the data marked by grey colour should be given by its sign. Positive: —,1)

Checking and uploading the solutions: www.szt.bme.hu/files/statika/index.php?lang=en




